SIGNATURE PAGE

RFQ# F-32-2024

To the Board of County Commissioners of the County of Monmouth:

THE UNDERSIGNED HEREBY DECLARES THAT I (WE) HAVE CAREFULLY EXAMINED THE SPECIFICATIONS. I (WE) HEREBY CERTIFY PRICES QUOTED ARE IN ACCORDANCE WITH YOUR REQUIREMENTS.

Company Name:	SSC INDUSTRIES INC
	(PRINT)
Preparer's Name:	MICHAEL SAMET
Signature:	Mey Som (PRINT)
	(DATE
Address:	202 WHITE ROAD JACKSON NJ
Telephone No.:	732.908.8165
Fax No.:	
E-Mail Address:	PROCUREMENT@SSCPETROLEUM.COM OIL@SSCPETROLEUM.COM MICHAEL@SSCPETROLEUM.INDUSTRIES
	(This should be the email where Contracts would be sent)
Contact Person:	MICHAEL X RUMORE
FEIN:	
(Federal Employee ID)	

REQUEST FOR BID

---- This Is Not An Order -----



RFB# F-32-2024

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

RFB must be received no later than:		November 9, 2023	10:30AM		
For Delivery to:	Various Delivery Locati	ons. See Details Below.			
Delivery Date:		1/1/2024-12/31/2024			
ITEM#	DESCRIPTION	······································	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
ANTIFREEZE					· · · · · ·
(EXTENDED BRAND 1: P BRAND 2: V HF	g: 55 GAL DRUM dd: <u>PEAK GLOBAL F</u> o: FYOB1	HARGE LIFE COOLANT	4 DRUM(S)	975.00	3,900.00
2 ANTIFREEZ BRAND 1: P - PROPYLEI BRAND 2: P NO SUBSTI	E, PROPYLENE TYPE - CO EAK GLOBAL ANTIFREEZE NE TYPE - CONCENTRATE RESTONE LOW-TOX TUTIONS, VIRGIN STOCK	E EXTENDED LIFE ED R "GENERAL	18 DRUM(S)	1,180.00	21,240.00
55 GAL/DRU Packaging MFG/Bran	i: 55 GAL DRUM d: PFAK GLOBAL o: FYOB1	IS ITEM			
AUTOMATIC TRAN	SMISSION FLUID		· · · · · · · · · · · · · · · · · · ·		

REQUEST FOR BID

---- This Is Not An Order -----



RFB# F-32-2024

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

	CRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
3 AUTOMATIC TRANSMISSION SYNTHETIC ATF BRAND 1: CAM2 BRAND 2: CASTROL BRAND 3: SYSTEM 7 M4 ATF I NO SUBSTITUTIONS, VIRGIN 55 GAL/DRUM Packaging: MFG/Brand: Product No: CAM2CAM Variances, if any:	LOW VIS STOCK RUM	1 DRUM(S)	975.00	975.00
4 AUTOMATIC TRANSMISSION DIESEL APPLICATIONS BRAND 1: ALLISON TRANSYN TRANSMISSION FLUID BRAND 2: MOBIL DELVAC SYI NO SUBSTITUTIONS, VIRGIN 55 GALLON/DRUM Packaging: 55 GAL DF MFG/Brand: ADVANTA Product No: AD668	D FULL SYNTHETIC NTHETIC STOCK RUM	1 DRUM(S)	1,450.00	1,450.00
Variances, if any: IESEL EXHAUST FLUID (DEF)	· · · · · · · · · · · · · · · · · · ·			
5 DIESEL EXHAUST FLUID (DEF BRAND 1: ULTRA-PURE DEF, BRENNTAG (MUST BE 32.5% DI (DEF) #30003-330 NO SUBSTITUTIONS, VIRGIN 2.5 GAL/JUG (FILLED) Packaging: 2.5 GAL JU MFG/Brand: BLUE SKY	TERRACAIR BY UREA SOLUTION) ESEL EXHAUST FLUID STOCK JG	375 JUG(S)	9.99	3,746.25
Product No: 30003-330 Variances, if any:			,t·	
LIVOINE OIL				

REQUEST FOR BID

---- This Is Not An Order ----



RFB# F-32-2024

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

TEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
6	ENGINE OIL FOR DIESEL APPLICATIONS BRAND 1: SUNOCO SUPER C 15W-40 CK-4 BRAND 2: CHEVRON DELO 400 SDE 15W-40 #222290 NO SUBSTITUTIONS, VIRGIN STOCK 55 GAL/DRUM Packaging: 55 GAL DRUM MFG/Brand: GULF Product No: 331343 Variances, if any:	2 DRUM(S)	799.00	1,598.00
7	ENGINE OIL FOR DIESEL APPLICATIONS BRAND 1: SUNOCO SUPER C 15W-40 CK-4 BRAND 2: CHEVRON DELO 400 SDE 15W-40 #222290 NO SUBSTITUTIONS, VIRGIN STOCK BULK DELIVERY - TO BE PUMPED INTO 330 GALLON STORAGE TANKS Packaging: MFG/Brand: Product No: Variances, if any:	2,200 GAL(S) - -	15.75	34,650.00
8	ENGINE OIL, 5W-20, FULL SYNTHETIC MOTOR OIL, DEXOS1 GEN 2 BRAND 1: MAG 1 BRAND 2: CHEVRON SUPREME 5W-20 #220 135 NO SUBSTITUTIONS, VIRGIN STOCK BULK DELIVERY - TO BE PUMPED INTO 330 GALLON STORAGE TANKS Packaging: BULK MFG/Brand: GULF Product No: 330210 Variances, if any:	1,200 GAL(S)	14.49	17,388.00
9	ENGINE OIL, 30-W MOTOR OIL, HEAVY DUTY BRAND 1: SHELL ROTELLA BRAND 2: PENNZOIL NO SUBSTITUTIONS, VIRGIN STOCK 55 GAL/DRUM Packaging: MFG/Brand: Product No: Variances, if any:	1 DRUM(S)	899.00	899.00

REQUEST FOR BID

---- This Is Not An Order ----



RFB# F-32-2024

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
10	ENGINE OIL, 5W-30 FULL SYNTHETIC, DEXOS1 GEN 2 BRAND 1: MAG 1 BRAND 2: PENNZOIL NO SUBSTITUTIONS, VIRGIN STOCK 55 GAL/DRUM Packaging: MFG/Brand: Product No: Variances, if any:	1 DRUM(S)	950.00	950.00
11	ENGINE OIL, 5W-30 FULL SYNTHETIC, DEXOS1 GEN 2 BRAND 1: MAG 1 BRAND 2: PENNZOIL NO SUBSTITUTIONS, VIRGIN STOCK BULK DELIVERY - TO BE PUMPED DIRECTLY INTO COUNTY STORAGE TANKS Packaging: MFG/Brand: Product No: Variances, if any:	725 GAL(S)	15.50	11,237.50
12	ENGINE OIL, 0W-20 FULLY SYNTHETIC DEXOS MOTOR OIL BRAND 1: PENNZOIL BRAND 2: MAG 1 NO SUBSTITUTIONS, VIRGIN STOCK 55 GAL/DRUM Packaging: MFG/Brand: Product No: 330226 Variances, if any:	1 DRUM(S)	950.00	950.00
13	ENGINE OIL, 0W-20 FULLY SYNTHETIC DEXOS MOTOR OIL BRAND 1: PENNZOIL BRAND 2: MAG 1 NO SUBSTITUTIONS, VIRGIN STOCK BULK DELIVERY - TO BE PUMPED INTO 330 GALLON STORAGE TANKS	2,200 GAL(S)	15.50	34,100.00

REQUEST FOR BID

---- This Is Not An Order -----



RFB# F-32-2024

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#		QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: MFG/Brand: Product No: Variances, if any:			
GRE/	SE			
14	BEL-RAY HEAVY DUTY CONSTRUCTION GREASE MANUFACTURER #72560-CG 14.1 OZ/CARTRIDGE	1,692 OZ	NO BID	
-	Packaging: MFG/Brand: Product No: Variances, if any:	<u>-</u>		
15	BEL-RAY MOLYTUBE SF100 OGL MEDIUM GREASE MANUFACTURER # 77010-CC 14.1 OZ/CARTRIDGE	1,692 OZ	NO BID	
	Packaging: MFG/Brand: Product No: Variances, if any:			
16	MOBILGREASE XHP 222, LITHIUM COMPLEX MANUFACTURER #105842 PAILS	70.4 LB(S)	NO BID	
	Packaging: MFG/Brand: Product No: Variances, if any:			
17	'LUCAS' X-TRA HEAVY DUTY GREASE CARTRIDGES	14,500 OZ	6.00	87,000.00
	Packaging: CARTRIDGES MFG/Brand: LUCAS Product No: 10301 Variances, if any:			
18	'CAM 2' ULTRA S80 EP2 MARINE GREASE 120 LB KEG	4 KEG(S)	NO BID	

REQUEST FOR BID

---- This Is Not An Order -----



RFB# F-32-2024

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging: MFG/Brand: Product No: Variances, if any:	- - -		
19	'MOBILE' EXTREME PRESSURE GREASE: MOBILUX EP 2, NLGI-2, LITHIUM THICKENER PAILS	210 LB(S)	NO BID	
	Packaging: MFG/Brand: Product No: Variances, if any:	- - - -		
20	MOBIL MOBILITH SHC 1000 SPECIAL SYNTHETIC GREASE MANUFACTURER #103471 PAILS	5 LB(S)	NO BID	
	Packaging: MFG/Brand: Product No: Variances, if any:	 		
HYDR	AULIC OIL			
21	HYDRAULIC OIL ISO 32 PREMIUM ANTIWEAR (AW) HYDRAULIC OIL BRAND 1: SHELL BRAND 2: CHEVRON NO SUBSTITUTIONS, VIRGIN STOCK 55 GAL./DRUM	1 DRUM(S)	575.00	575.00
	Packaging: 55 GAL DRUM MFG/Brand: GULF Product No: 334227 Variances, if any:			
22	HYDRAULIC OIL ISO 32 PREMIUM ANTIWEAR (AW) HYDRAULIC OIL BRAND 1: SHELL BRAND 2: CHEVRON NO SUBSTITUTIONS, VIRGIN STOCK BULK DELIVERY - TO BE PUMPED DIRECTLY INTO COUNTY STORAGE TANKS	400 GAL(S)	8.79	3,516.00

REQUEST FOR BID

---- This Is Not An Order ----



RFB# F-32-2024

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

COU	DUNTY CO-OP)						
ITEM#	511117	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE			
	Packaging: BULK MFG/Brand: GULF						
	Product No: 334227-002						
	Variances, if any:						
23	HYDRAULIC OIL ISO 68 PREMIUM ANTIWEAR (AW) HYDRAULIC OIL BRAND 1: CASTROL DUAL RANGE HV BRAND 2: MOBIL EXCEL 68 NO SUBSTITUTIONS, VIRGIN STOCK 55 GAL./DRUM	1 DRUM(S)	630.00	630.00			
	Packaging: 55 GAL DRUM	<u> </u>		<u> </u>			
	MFG/Brand: GULF						
	Product No: 3342271						
	Variances, if any:						
24	HYDRAULIC OIL ISO 68 PREMIUM ANTIWEAR (AW) HYDRAULIC OIL BRAND 1: CASTROL DUAL RANGE HV	1 PAIL(S)	NO BID				
	BRAND 2: MOBIL EXCEL 68 NO SUBSTITUTIONS, VIRGIN STOCK						
	5 GAL./PAIL Packaging:						
	MFG/Brand:						
	Product No:						
	Variances, if any:						
SPRA	Y LUBRICANTS, DEGREASERS AND CLEANERS						
25	BEL-RAY 6 IN 1 MULTIPURPOSE LUBRICANT MANUFACTURER #12310-A400W 400ML/CAN	48,000 ML(S)	NO BID				
	Packaging: MFG/Brand: Product No: Variances, if any:						
26	BEL-RAY WATERPROOF CHAIN LUBE MANUFACTURER #66410-A400W 400ML/CAN	48,000 ML(S)	NO BID				

REQUEST FOR BID

---- This Is Not An Order ----



RFB# F-32-2024

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	. QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	Packaging:			
27	CRC BRAKLEEN BRAKE AND PARTS CLEANER MANUFACTURER #05089 19OZ/CAN Packaging: 19 OZ CAN CRC 05089 Variances, if any:	1,900 OZ	.32 PER O	608.00
28	WD40 SPECIALIST ELECTRICAL CONTACT CLEANER MANUFACTURER #300554 11OZ/CAN Packaging: 11 OZ CAN MFG/Brand: WD40 Product No: 300554 Variances, if any:	2,200 OZ	9.99	21,978.00
29	CRC POWDER LUBE MULTIPURPOSE LUBRICANT MANUFACTURER #05007 1 GAL/CONTAINER Packaging: 1 GAL CONTAINER MFG/Brand: CRC Product No: 05007 Variances, if any:	5 GAL(S)	25.56	127.87
30	SUPERCLEAN LIQUID CLEANER AND DEGREASER MANUFACTURER #101723 1 GAL/CONTAINER Packaging: 1 GAL CONTAINER MFG/Brand: SUPERCLEAN Product No: 101723 Variances, if any:	10 GAL(S)	13.10	131.00
31	ZEP CONCRETE DISSOLVING FLUID MANUFACTURER #165635 5 GAL/CONTAINER	5 GAL(S)	NO BID	

REQUEST FOR BID

---- This Is Not An Order -----



RFB# F-32-2024

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/U	TINL	UNIT PRICE	TOTAL PRICE
	Packaging: MFG/Brand: Product No: Variances, if any:	· · · · · · · · · · · · · · · · · · ·			
32	DYNAFLUX ALUMINUM AND STAINLESS CLEA (REMOVES OXIDE LAYER PRIOR TO WELDING MANUFACTURER #781 1 GAL/CONTAINER	3)	GAL(S)	NO BID	
	Packaging: MFG/Brand: Product No: Variances, if any:	· · · · · · · · · · · · · · · · · · ·			
33	ZEP DYNA 143 SOLVENT CLEANER AND DEG PART #0366 20 GAL/DRUM	REASER 2 D	PRUM(S)	NO BID	·
	Packaging: MFG/Brand: Product No: Variances, if any:				
SPEC	IALTY GEAR OILS				7.1. S. A.
34	BEL-RAY AIR TOOL OIL MANUFACTURER #62620-BT4 1 GAL/CONTAINER	2 G	GAL(S)	NO BID	
	Packaging: MFG/Brand: Product No: Variances, if any:				
35	SYNTHETIC BEARING AND CIRCULATING OIL BRAND 1: SHELL MORLINA S4 B 220 MANUFACTURER #S50042915 BRAND 2: CHEVRON CETUS HIPERSYN 220 NO SUBSTITUTIONS, VIRGIN STOCK 5 GAL/PAIL	5 G	GAL(S)	NO BID	
	Packaging: MFG/Brand: Product No: Variances, if any:	· · · · · · · · · · · · · · · · · · ·			

REQUEST FOR BID

---- This Is Not An Order -----



RFB# F-32-2024

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
36	MOBIL DTE HEAVY/MEDIUM OIL R&O CIRCULATING OIL MANUFACTURER #100959 1 GAL/CONTAINER Packaging: MFG/Brand: Product No: Variances, if any:		NO BID	
37	MOBIL GLYGOYLE 460 SYNTHETIC BEARING & GEAR OIL MANUFACTURER #103078 5 GAL/CONTAINER Packaging: MFG/Brand: Product No: Variances, if any:	5 GAL(S)	NO BID	
38	MOBIL VELOCITE #6 SPINDLE OIL MANUFACTURER #105482 5 GAL/CONTAINER Packaging: MFG/Brand: Product No: Variances, if any:	5 GAL(S)	NO BID	
39	MOBIL VELOCITE #10 SPINDLE OIL MANUFACTURER #105481 5 GAL/CONTAINER Packaging: MFG/Brand: Product No: Variances, if any:	5 GAL(S)	NO BID	
40	TAP MAGIC EP-XTRA CUTTING FLUID MANUFACTURER #10128E 1 GAL/CONTAINER Packaging: MFG/Brand: Product No: Variances, if any:	2 GAL(S)	NO BID	

REQUEST FOR BID

---- This Is Not An Order -----



RFB# F-32-2024

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
41	ENVIROLOGIC TERRASOLVE #146, BIODEGRADEABLE HYDRAULIC OIL MANUFACTURER #EO14605 5 GAL/CONTAINER Packaging:	10 GAL(S)	NO BID	
	MFG/Brand: Product No: Variances, if any:	<u></u>		
42	SYNTHETIC BEARING AND CIRCULATING OIL BRAND 1: SHELL MORLINA S4 B 220 BRAND 2: CHEVRON CETUS HIPERSYN 220 NO SUBSTITUTIONS, VIRGIN STOCK 5 GAL/CONTAINER Packaging: MFG/Brand: Product No: Variances, if any:		NO BID	
SMAL	L ENGINE ITEMS	· · · · · · · · · · · · · · · · · · ·		The second second
44	TRUFUEL 4 CYCLE ETHANOL FREE FUEL (FOR SMALL ENGINES) MANUFACTURER #301597210180 1 GAL/CONTAINER	5 GAL(S)	NO BID	
	Packaging: MFG/Brand: Product No: Variances, if any:			
45	BAR AND CHAIN OIL (APPLICABLE FOR CHAINSAW USE) 193 DEGREES C, VISCOSITY @ 100C, 11CST BRAND 1: ITASCA BAR / CHAIN OIL BRAND 2: STIHL WOODCUTTER BAR AND CHAIN OIL VIRGIN STOCK BULK DELIVERY	115 GAL(S)	14.00	1,610.00
	Packaging: BULK MFG/Brand: GULF Product No: 335704 Variances, if any:			

REQUEST FOR BID

---- This Is Not An Order -----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski

732-431-7370 x7381

FURNISH AND DELIVER LUBRICANTS, MOTOR OILS, ANTI-FREEZE, DEGREASERS, CLEANERS AND WINDSHIELD WASHER FLUID FOR VARIOUS MONMOUTH COUNTY DIVISIONS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2024 THROUGH DECEMBER 31, 2024 (MONMOUTH COUNTY CO-OP)

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
46	MOTOR OIL - 2 CYCLE, WITH A 2.60Z PRE-MEASURING DEVICE BRAND 1: MAG 1 BRAND 2: VP NO SUBSTITUTIONS, VIRGIN STOCK 24 PINTS/CASE	192 PINT(S)	NO BID	
	Packaging: MFG/Brand: Product No: Variances, if any:			
WIND	SHIELD WASHER FLUID	" .		
47	WINDSHIELD WASHER FLUID - PRE-MIXED TO -20 F. FREEZE PROTECTION FORMULA BRAND 1: PRESTONE AS-657-55 BRAND 2: CAMCO EXTREME BLUE BRAND 3: WW-55 SPLASH PRE-MIX NO SUBSTITUTIONS, VIRGIN STOCK 55 GAL/DRUM Packaging: 55 GAL DRUM SPLASH	24 DRUM(S)	259.00	6,216.00
	MFG/Brand: SPLASH Product No: 24708 Variances, if any:	-		
		TOTAL:	255,475.62	

***** SEE ATTACHED SPECIFICATIONS *****

***** ALL ITEMS MUST BE BID IN UNIT OF MEASURE *****

Various Delivery Locations:

Division of Bridges Public Works Complex, Bldg. E 240E Center Street Freehold, NJ 07728 Tracey Halpin 732-431-6556

REQUEST FOR BID

---- This Is Not An Order ----



RFB# F-32-2024

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER LUBRICANTS, MOTOR OILS, ANTI-FREEZE, DEGREASERS, CLEANERS AND WINDSHIELD WASHER FLUID FOR VARIOUS MONMOUTH COUNTY DIVISIONS ON-CALL, AS NEEDED FOR THE PERIOD JANUARY 1, 2024 THROUGH DECEMBER 31, 2024 (MONMOUTH COUNTY CO-OP)

ITEM#

DESCRIPTION

QUANTITY/UNIT

UNIT PRICE

TOTAL PRICE

Department of Facilities Management Monmouth County Correctional Institution 1 Waterworks Road Freehold, NJ 07728 Karen Retzer 732-431-7360 x2136

Division of Fleet Services Public Works Complex 250 Center Street Freehold, NJ 07728 Joe Ponisi - x7165 or Kyle Dodig - x7164 732-431-7830

Division of Shade Tree Special Services Complex 300 Halls Mill Road Freehold, NJ 07728 Cassandra Deckle 732-431-7903